College Algebra - Solutions
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	1.
	Find the quadratic function which has a zero of
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	.


	   
	Express your answer in standard form,
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	.


	   

	
	Solution:
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	2.
	Solve
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	Solution:
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	3.
	If
	[image: image7.png]Flx)=logsx+4)




	, what is the value of
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	?


	   

	
	Solution:
	[image: image9.png]S22 =12






	4.
	Graph
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	, given the graph of
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	below.
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	Solution:
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	5.
	For what values of x does the expression
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	represent a real number?


	   

	
	Solution:
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	6.
	Find all solutions of
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	Solution:
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	, extraneous solution of
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	7.
	If
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	then


Solutions: 

	a.
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	b.
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	c.
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	8.
	Are the following expressions equivalent?
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	,
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	Solution:
	yes
	


	9.
	Give equations for the horizontal and vertical asymptotes of
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Gy g






	Clearly indicate which are horizontal asymptote(s) and which are vertical asymptote(s).


	Solutions:

	
	Horizontal asymptote:
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	Vertical asymptotes:
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	10.
	Rewrite
	[image: image28.png]Flx)=32" —6x+5




	in
	[image: image29.png]



	form.


	
	Solution:
	[image: image30.png]Flx)=3x-17+2






	11.
	Sketch graphs of each of the following. Clearly state 3 orderd pairs which are on each graph.


	a.
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	Solution:
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	(-1, 1/3), (0, 1), (1, 3) etc.

	b.
	[image: image33.png]Y)x+a




	

	Solution:
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	(0, 4), (3, 2), (-3, 8) etc.

	c.
	[image: image35.png]y=log,x




	

	Solution:
	[image: image36.png]



	(1/2, -1), (1, 0), (2, 1) etc.

	d.
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	Solution:
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	(-2, 0), (0, 0), (1, 0) etc.


	12.
	Solve
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	Solution:
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	13.
	Solve for x:
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	Solution:
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	14. A rectangular swimming pool 40 meters by 20 meters is surrounded by a concrete apron of uniform width. Determine the proper width of the apron in order to have an apron area of 256 m2. 
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Solution: w = 2 meters 

